
1) Find the percentage change from 2 to 4

Answer: ____________

2) 5   6/8 - 2   4/10

Answer: ____________

3) 4   5/8 - 6   4/5

Answer: ____________

4) 42/3 x 51/2

Answer: ____________

5) Increase 48 by 50%

Answer: ____________

6)
Find the next three numbers in 
the sequence
9,8,24,23,69,68,204__,__,__

Answer: ____________

7) Share 40 in the ratio 11:9

Answer: ____________

8) 54 + 100

Answer: ____________

9) 54 + 100

Answer: ____________

10) 12 - 15 x 4

Answer: ____________

11) 12 - 15 x 4

Answer: ____________

12) Convert the following mixed number 
35/2 to an improper fraction.

Answer: ____________

13)
121

2 /4

Answer: ____________

14) 12/8 ÷ 61/2

Answer: ____________

15) Factorise d2 + 8d + 15

Answer: ____________
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16) Round 11.1385 to 1 decimal places.

Answer: ____________

17) Find the median of the following set of data:

3, 10, 36, 2, 9, 38, 12

Answer: ____________

18) Decrease 30 by 10%

Answer: ____________

19) Solve by factorising 
j2 - 1j - 12 = 0

Answer: ____________

20) (1 x 15) - (9 x 33)

Answer: ____________

21) 5000 ÷ 1000

Answer: ____________

22) (-1) ÷ 1

Answer: ____________

23) (-1) ÷ 1

Answer: ____________

24) 3 x 28.2

Answer: ____________

25) 17/
10 ÷ 6/4

Answer: ____________

26) Convert the following improper 
fraction 44/9 + 51/2 to a mixed 
number

Answer: ____________

27) $124.00 earning 9% compound 
interest for 8 years.

Answer: ____________

28) b

a o c
Measure angle boa

Answer: ____________

29) Convert the following mixed number 
41/5 to an improper fraction.

Answer: ____________

30) Find the percentage change from 8 to 
24

Answer: ____________
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31) Round 11.0057 to 2 significant 
figures.

Answer: ____________

32)

Name the type of angle.

Answer: ____________

33) Convert the following improper 
fraction 35/7 + 42/9 to a mixed 
number

Answer: ____________

34) Decrease 60 by 35%

Answer: ____________

35) 202 - 19 - 3

Answer: ____________

36) 20% of 45

Answer: ____________

37) Decrease 50 by 14%

Answer: ____________

38) 20/7 - 10/10

Answer: ____________

39) 50% of 50

Answer: ____________

40) 20 x (-24)

Answer: ____________

Total: ___ / 40
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Answers:

1) 100% 2) 37/20 3) 47/40 4) 252/3 5) 72 6) 203,609,608, 7) 2 : 38

8) 154 9) 154 10) 11) 12) 11/2 13) 11 14) 5/26

15) (d + 3)(d + 5) 16) 11.1 17) 2 18) 27 19) j = 4 or -3 20) -242 21) 5

22) -1 23) -1 24) 84.6 25) 12/15 26) 917/18 27) $247.08 28) 56

29) 21/5 30) 200% 31) 11 32) Acute 33) 759/63 34) 39 35) 378

36) 9 37) 43 38) 16/7 39) 25 40)
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